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[m/s] [m/s] [C] [C] [C] [%] [%] [%] [%] [hPa] | [hPa] [mm] [ mm] [mm]
0l 2.1 ®E| 9.2 m@E| 25.8] 28.9] 23.8] 94.8] 98.3| 82.5| 90.1] 997.3] 1011.5] 2.5| 6.0] 13.0 o 2 =
02 1.0 wmE|  8.1| mim@|  24.5| 27.0| 23.0] 92.1| 98.0| 80.8| 90.6| 1001.1| 1015.4] 0.0 0.0 0.0 E S 2
03 1.3 M| 13.5 m|  25.4] 29.9] 22.1| 82.0| 98.0| 58.0] 88.0|1002.1] 1016.4] 0.0 0.0 0.0 & B a
04 1.3 M| 8.6| mEgE| 26.4| 31.1| 22.0| 77.4| 96.1| 58.3| 84.7| 1001.9| 1016.1] 0.0] 0.0 0.0 5 B =
05 1.4 M| 7.6l mEE| 27.0| 32.1| 22.5| 74.2| 94.9| 50.0| 81.5| 1001.5| 1015.7] 0.0] 0.0 0.0 B B s
06 1.5 m| 12,1 dedews| 26,9 31.3] 24.0| 79.0| 95.0| 53.3| 80.7| 998.9| 1013.0 0.5 0.5| 0.5 B B i
07 1.0 dews| 5.8 M| 245 26.0 23.6| 97.0| 98.6| 87.5| 85.5| 998.6| 1012.9] 1.0| 3.5| 18.0 ] ] i
08 1.2| ww| 82| mmw| 24.3| 28.8| 22.3| 91.7| 98.6| 67.5| 87.3]|1000.3| 1014.6] 1.5 2.5 8.0 M B 5
09 1.4| s | 6.6| mEE|  24.9| 20.2| 21.9| 86.9| 97.7| 67.7| 87.1| 1000.1| 1014.4| 0.5| 2.5| 3.5 B = i
10 1.3| mm|  9.3| m@m| 25.7| 32.4| 21.9| 78.9| 98.3| 53.8| 84.6|1001.0| 1015.3] 0.5 3.0/ 1.5 5 b5 S
11 1.3 dewE| 6.9 m|  24.7| 30.2| 19.5| 73.3| 94.9] 52.4| 81.1]| 1001.0| 1015.3] 0.0] 0.0 0.0 5 5 B
12 1.4| g | 8.5 mmgw|  25.8| 31.2| 20.7| 72.5| 90.2| 53.6| 78.5| 1000.2| 1014.4] 0.0 0.0 0.0 5 b5 s
13 1.0 Ml 8.0 M| 26.6| 32.1| 21.7| 7470 92.4| 5.5 77.3| 1000.8] 1015.0] 0.0 0.0 0.0 B I i
14 1.4| | 10.6| m@|  27.2| 32.2| 23.2| 73.1| 94.4| 57.4| 76.0| 1000.8| 1015.0] 0.0 0.0 0.0 B I IS
15 1.3| mwE| 8.0 m| 23.7] 25.6| 22.1| 75.0| 85.8| 66.3] 75.6| 1001.1] 1015.4] 0.0 0.0 0.0 B at e
16 1.8| mEE| 9.1 ml 25.1| 20.7| 20.2| e2.8] 88.3| 43.0| 71.7| 1000.3| 1014.6] 0.0 0.0 0.0 5 5 s
17 1.9 dem|  7.e| dedres|  25.4| 20.5| 20.7] 5.2 s86.3| 48.8| 69.7| 1000.4| 1014.7| 0.0] 0.0 0.0 E a 2
18 1.8 dew| 7.0 Jrm|  25.4| 31,0 22,1 89.7| 98.3| 66.3| 75.6| 997.0| 1011.2] 80| 19.5| 43.0 i E o
19 3.9| mEE|  18.8 | 25.9| 20.2| 24.1| 94.8] 98.0| s81.1| 81.3| 989.2| 1003.3| 8.0| 13.5| 31.5 W ] i
20 3.0 JtmE|  18.7 M| 23.5| 26.4| 19.7| 91.5| 98.0| 67.7| 84.3| 985.9| 1000.1| 11.0| 17.5| 50.5 M i) o
21 1.2| mm|  6.7| mEE| 20.8| 24.1| 18.6] 79.4| 92.7| e4.7| 82.8| 999.0| 1013.5| 0.0] 0.0 0.0 o a 2
22 1.4| miewE|  8.0| Bepad|  20.4| 25.3| 18.3| 79.3| 97.7| 52.7| 81.7| 1004.2| 1018.7| 25| 4.5 4.5 S ] 2
23 1.7 vl 12.2| dedtse|  21.2|  23.9| 18.9] 95.4] 98.8| 80.2| 85.8| 999.3| 1013.8] 9.5 25.5| 107.5 2 b W
24 1.4| m@|  9.6| mmEm|  24.3| 20.3| 21.2| 92.6| 99.1| 75.2| 87.8| 994.5| 1008.7| 11.0| 52.0| 148.0 ] s o
25 1.5| mmE|  7.6| ®m®| 23.9] 28.6| 21.8| 79.1| 95.8| 56.3| 85.1| 1000.1| 1014.5| 0.0] 0.0 0.0 5 b5 B
2 1.3| e | 7.7| mEw| 2.9 28.1| 18.7] 82.1| 97.2| 6.9 84.2| 1001.6| 1016.0] 0.0 0.0 0.0 5 IS b5
27 1.5 | 11.0 fl 23.6] 28.7| 19.7| 75.2| 95.2| 49.1| 81.4| 999.8| 1014.1] 0.0 0.0 0.0 B I e
28 1.2 M| 7.4 adgE| 22.6| 25.7| 19.6| 68.9| 92.4| 49.1| 77.6| 995.8| 1010.2| 0.0 0.0 0.0 B S 2
29 0.9 Ml 7.9| mEgdE| 21,0 2470 19.1| 83.8| 97.5| 66.9| 79.4| 998.8] 1013.3| 0.0 0.0 0.0 2 2 =
30 1.6| dJemE|  10.6| dedvs|  22.1|  27.4| 17.8| 74.0| 97.7| 49.9| 77.8| 1001.4| 1015.9] 0.0] 0.0 0.0 b5 5 B
THBE] 1.5 ] 24.4 8.2 81.8] 999.1] 1013.4
@ 8.7| Jtdk=m|  18.8 ] 32.4 99.1 90.6| 1005.7| 1020.3| 11.0| 52.0| 148.0
e | 09/23 09/19 09/10 09/24 09/02| 09/22| 09/22| 09/24| 09/24| 09/2
23:40 92:53 12:58 05:01 24:00| 09:22| 07:48| 02:00] 02:20
RAEfE 17.8 43.0| 69.7| 981.0| 994.9
Gl 09/30 09/16| 09/17| 09/20| 09/20
05:45 09:41| 24:00| 05:03| 05:03
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